Subject: Re: "infinite" nested for
Posted by Chrisss on Mon, 25 Nov 2013 16:18:23 GMT

View Forum Message <> Reply to Message

Hi Mats Lofdahl, thanks for your interest!

my problem is that my "Im" is a 3D matrix in which every pixel is a curve with 60 elements. Inner
loop is for these ones: it does the fitting after the exponential curve inversion. | must follow a
scholastic approach that tests all of 60 inversion time TO within inner loop. | should try a smarter
way to find the best inversion time TO.

Cheers, Christina
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